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C.U.SHAH UNIVERSITY

Winter Examination-2015

Subject Name : Energy Audit and Conservation Techniques
Subject Code :2TEOSEAC1 Branch : Diploma(Electrical)
Semester :5 Date :4/12/2015 Time :2:30 To5:30 Marks :70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions (14)
a)  Which of the following is not a Primary Energy Source? (1)
i) Oil
i?) Natural Gas
iii)Electricity
iv)Wood
b)  Ozone has (1)

i) Three oxygen atoms
i) Two oxygen atoms

iii) Two chlorine atoms
iv) Two bromine atoms

c)  Among all which one is type tariff 1)
i) block up tariff
i) four part tariff
iii) maximum demand tariff
iv) one part tariff

d)  Which Quantities are measured by Tri Vector Meter? 1)
i) Active Reactive power
i) Power factor
iii) Frequency
iv) voltage
) IR % losses occurs in transmission and distribution [¢D)]
i) 22%
i) 14%
iii) 8%
iv) 88%



f)

9)

h)

)

K)

Give the time period of primary energy audit
i) 1to 10 days
ii) 1to 10 weeks
i) 2 to 10 days
iv) 2 to 10 weeks

What is the overall efficiency of thermal power plant in India?

i) 22-27%
ii) 28-35%
iii) 35-40%
iv) 40-45%
Which gas causes global warming among the following?
i) CFC
i) SO2
iii) 02
iv) Argon
The objective of energy management is
i) To minimize energy costs
i) To minimize environmental effects
iii)a&b
iv) None of the above

Ratio of maximum demand to connected load is termed as:

i) Load factor
i) Power factor
iii) Demand factor
iv) Form factor
Greenhouse effect refers to increase in
i) Global temperature
i) b) Carbon monoxide
iii) ¢) atmospheric pressure
iv) Greenery
Which of the following is a renewable energy source?
i) Bitumen
i) Solar Energy
iii) Coal
iv) Natural Gas
payback period = ..............
i) 1/ROI
ii) ROI
iii) 1/ Sinking fund
iv) Sinking Fund

1)

1)

1)

(1)

(1)

(1)

1)

1)



Q-3

Q-6

Q-7

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)

(B)

3 star means unit yearly used
i) 501
ii) 400
iii) 626
iv) 728

Attempt all questions
Explain green house effect
Explain Acid Rain in Detail.

Attempt all questions
What is Deprecation? Explain any one method in detail
Initial cost of one equipment is 65,000 RS, Useful life of it is 5 Years. The salvage
value of it is 5,000 RS. So, Calculate yearly deprecation charges using (i) Straight
Line Method (ii) Diminishing Value Method  (iii) Sinking Fund Method. For
Sinking Fund Method consider compound interest 9%

Attempt all questions

Write down Main Elements and its Auxiliaries for Different types of Power station.
Explain ABCD formula

Attempt all questions
Explain co-generation systems.
Draw and Explain Combined Cycle Power Plant

Attempt all questions
Explain different costs of Project.
Procedure to carry out energy audit of 3 phase induction motor

Attempt all questions

Give Function /Use of Following Instruments.
Rota Meter

Anemometer

Gas Analyzer

Clamp-On-Meter

Pitot Tube

Power Analyzer

Smoke tester
Explain small hydro power plant with its advantages

1)

(14)
(7)
()

(14)

(7)
()

(14)
()
()

(14)

()
(7)

(14)
()
()

(14)
(7)

(7)



Q-8 Attempt all questions (14)

(A) Explain causes of high transmission and distribution losses (7)
(B) Listout policies to promote renewable energy and energy efficiency (7)
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Q-1

b)

d)

Attempt the following questions:

o(lAotl 1Ll 53 yatlls Gt A otell ?
i) AsA
i) AU A
iii) sAsgLA{El
V) S
Aot WA
i) olel alslwet wy
i) A s2l%otl Q|
iii) A sA3ot WY
iv) & ola{let Q|
o{lAotl Hiell s20 23 ol As YsR B?
i) oclls AU (3%
i) 512 ue 2Rs
i) AsAHH SIHHes 2R
ivicet ulé 2R

2le Ase? HleR glrl 58 A Ui wa B?

) S Al WwaR
i) W §se2

iii) glsclar{l

iv) e

.......... % ojslel glorMalet U BRR0YA Al ©

i) 22%
i) 14%
iii) 8%

iv) 88%
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f)

9)

h)

)

K)

ylalls Gt 20B3e uHA el
i) 1t010 (Bt
i) 1 to 10 wscuslau
iii) 2to 10 (™

iv)2 to 10 wsclslal
LR ML A WaR Wloe ASER slRAaHAl 9 B?

) 22-27%
i) 28-35%
iii) 35-40%
iv) 40-45%

ol Aatl Hiell 52 A oAl BTl HiZej s1R0L W B?

i) CFC
i) SO2
iii) 02
iv) Argon

Aot NaxNoe & 9 B2
i) Ruses Aetdl sied
i) RlMses AMocllsReed WEs2U
i) adal b
iv) As ULl oldl
Ratio of As2(HH (3MLS ol 51525 AS ol IRNAR A 9 sdcllU?
i) Als §seR
i) WeR §seR
i) BHLs §seR
iv)sll §se?
IfloASIGU UAR ARl M2 HAGER 9 B?
i) O SURUR.
i) slolol HollsRAUYS
i) WeHIRBARSs YalR
iv) flet3l



) Reyuiuct AatosT A (Aot 1L 52f D?
i) (QeyRat
i) AAR Woto(
i) sl

iv) ol I~
m)  Ads WBAS = .o
i) 1/ ROI
i) ROI
i) 1/ R8aL gs
iv) RUZoL 5
N 3R Y2 cwlls Gualloal
i) 501
ii) 400

iii) 626
iv) 728

Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
(A) oflet 51GY B¥se UHMA. (7)
(B)  Als 26el @l HL UHAAL (7)
Q-3 Attempt all questions (14)
(A auR Aed 92 58 uel As dd [Qaqc 1L s (7)

(B)  As AU ol sollalact Brd 3. 54,000 & uUA Aoll U0 cuss w71
ad ®. Aol Ay (FHA 3 U,000 B. A Aol UR ALLA s aUR (1)
we Adlgetoll  (R) Sllollallor Acyell ua (3) AlEdL g05 ol A 20 L.
Al(BoL 505 oll At MR ¢y Usy(R ca a3l 1 Ad,

Q-4 Attempt all questions (14)
(A weR Rt QR Ystal 12 Jul decl AR Aotl AAsAAI . (7)
(B)  ABCD Sjeut umestdl (7)
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Q-5

Q-6

Q-7

Q-8

(A)
(B)

(A)
(B)

(A)

(B)

(A)
(B)

Attempt all questions

8l otR2lol e A=Al
S0UBel AUBSA WaR w2 ofl wgdl 131 Auzma

Attempt all questions

UIBse oll el YEL WUl LUl
3 3859 B0553ol Hl2R ol Wol 32 12 ol Wl cul.

Attempt all questions

BREl SolgHe ol sl / Gullol dull.

Aal Hler

WMl Hle?

A AaolAlAYR

sy llet HleR

lele eyt

UlaR AsAlA%R

s 2R

AA SLEQl WeR Wllo Aol $LAEL AL UMl

Attempt all questions

G 2l 2ot UA BRRuY2et AU ol 5100 A=A A
Roxuoicd et wal Bl WGl Ulettget HLg ol W@l weua

(14)
(7)
()

(14)
(7)
(7)

(14)
()

()

(14)
(7)
(7)



